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' oyT W wHIF ( 10 HFT &) Questiqn Booklet Serial No.
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l???&ﬂw Fl 15 7T &7 sl been allotted for the candidates to
g gy T4y & read the questions carefully.
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| 121/327 ]
This question booklet is divided
into two sections — Section-A
and Section-B.
In Section-A, there are

100 objective type questions, out
of which any 50 questions are
to be answered ( each carrying
1 mark). First 50 answers will be.
evaluated by the computer in case

more than 50 questions are

answered. For answering these

darken the circle with blue /
black ball pen against the

_correct option on. OMR Answer

Sheet provided to you. Do not use
whitener / liquid / blade / nail |

 etc. on OMR-sheet, otherwise

INT-A-23/ 2501-(5)10}

the result will be treated
invalid. - 8

. In Seéﬁoﬁ-B, there are 30 short

answer type gquestions, out of
which any 15 questions are to
be answered (each -carrying

2 marks). Apart from these, there

are 8 long answer type
questions, out of which any
4 questions are to be answered

(each carrying 5§ marks),

Use of any electronic applianceé is
strictly prohibited.
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TGS wo / Objective Type Questions

WUg - A / SECTION -
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oYY T 1/ 100 7% & ¥3T & Wy 9K fawew Ry 7v § frw' @ v a8
g’?‘fﬁf"a'?sow#%méi arw#amg#wna?ﬁm# OMR ¥z a7

Rifgaa &¥1

50x 1=50

Question Nos. 1 to 100 have SJour options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet,

1. dc-lx(2cos 34x)
[ﬁ), —-2sin ix
©) :aﬁsin%

2 a—i— (e'a‘“)—

-
N
(C) 8e3*
3 a-i‘x- (1 1")—
(A) -x_l 3+

(B)

(D)

(D)

(B)

(D)

(B)

(D)

| INT-A-23/2501-(5/10) |

50x1=50
_gsm%x |
e-3x
-3
38—3::
11* .log x
_11x
logll
... S
(3x-2)2
3
3x-2
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S. zﬁé\.'_x=r:u:,c:-:s,29, y=bsin? 0, A % FT A

¢ode
) 2 S B -2
a a
(C) %sinQﬁ - - "T‘btam2 0

If x=acos?0g, Q=bsin29 then the value of Sy is

dx‘
@ L ® -2 :
(C) %sinZG | (D) - —;—btange
6.  STaheT WHEHTOT J_:de+y2d.y=0 WEAE
@ xB+yl=k ' ®) ;_;2+y'?='k
© x2-y?=k . (D) 'x3-yf3=k

The solution of the differential e'quation kzdx + yzdy =0 is

@A) Beyd=k | (B) '_x7-'+y2=k i
© x%-y*=k ‘ | (D) B -yi=k ;
e . : : L
7. (G- 27). (k+37-])= i
A 0 | a5 _‘(B] <8,
© -7 D) 8

8. 3ol WHHIU e3X dx+e*¥ dy=0 % & ¥

A) W=k . (B) €3 +e% —f

© e uge=k T (D) 3 4oty gixray
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The solution of the differential equation e3* dx +e?Y dy=0 55

@ W @) e seW =k

(C) %6‘3" +';1;-€4y =k (D) .e3* +e¥ 3%+ W =k

9.  EHS WHIHTT .‘;_h%@i:o FEA

A ik | W 1
(A) x=ky ‘ . B <+ . k
C) x+y=k | D) xy=k
The solution of the differential equation %-&%ﬂ-:() is
@ x=ky - ® il
. " . ) x y

(€ x+y=k D)  xy=k

10.  3eeheT THIEHTOT %'—ysmpcotx H AR R E

(Al Sin x '. : (B) e—.sin‘x
(C) .. esin; _ . ; (D) e(‘.ﬂs X .

: ; ; i ,
The integrating factor of the differential equation a:%— ysinx=cotx is
() sinx © - (B e
(C) eSinx | (D) etosx

11. 3% A4 ¥R B Wda WA &, PA)=0-3 T P(B)=0-4 & a

~ P(ANB) =

M 012 B 021
© o7 (D) 07
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12.

s b

[121/327)

If A and B are independent cvents, P{A]=0-3 and P(B)=0-4 then
P(ANB) = . g o

A 012 | B o021

© ors —

w 373 e 47
@ 123 e [§]]
The adjoin?mauix of matrix [é ﬁ] is | @
w 37 e 4
o (23 e [17

qﬁﬁi’@aﬁﬁ:ﬂ?aﬂmﬁr J_ Fg}a}xwwm%

I VI - _. B 7
© 8 . @) 9
If the direction cosines of a line be %; Tg—? G’ 7’% i o
of x -is . | | ' . ' |
@ 6 S BT
© 8 | D 9
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ag A;[é ?J at A wraE R

14.
(4) 254 B 244
(C) 24 D A
If A=[6_ ?] then the value of A%%is
‘@ 254 - (B) 244
(C) 2A . (D) -A
15. A WHHAT ‘o', aob=3a+b W IR & & (2.03) 05 =
w28 m a2
(C) 36 | (D) 22
If the operation 'o' is d;ﬁncd as aob=3a+b then (2 6 3)oS =
@) 28 ‘ (B) 32
© 36 - Dy 22 .
16. A% a={1,2} B={abc}M AR B H FoH B FeT HETE -
(A 9 ® 12 |
12 64 (D) T | A -
If A={1; 2}, B={a,b,c } then total number of functions from Ato Bis
a9 . | B) 12
e (D)  none of these |
17. -af% A={a, b} B={1, 23 }ﬁA@_Bﬁmwﬁraﬁ%m%'
(A) 6 ik (B) -8
) 9 4 D) T ¥ HIE TR
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18.

19.

20.

" 1@

[121/3271
If A={a, b }, B¥{1, 2,3 } then total number of one-one functions
from A to Bis

A) 6

B 8
© o

(D) none of these
HTFHA FHIHTT dx+dy=0 H &6 &
(A)  x=ky (B) _'_x2+y2=k

(C]I x+y-'—-1'c"

D) xy=k

The solution of the differential equation dx+dy=0 is

(A) x=ky- (B) X2 +y2=|k
(C)' . x+y=Kk (D) xy=k 1
- -.*I o '-

1 .1 =

4 o B) 1

© -1 o

> ‘P."
jxA=

@ ko o® -K

(CL o D) 1
| sin( sin~} —é-)=

' 1
@ 1 B 3
(C) % - (D) o0

| INT-A-23/250 1-(s/10)
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23.

24.

25.

26.

© -1 D

[121/327 ]

sin~! x4 sin™! y=.
(A)  sin l{x,jl y? ~yvl- x2}
sSin l{le Yy +yJ1 x?}

-1

- 'sin xJ1+y +yJ1+x2

(D] sin” { J1+y —yJ1+x } N
;1. .

x+cos™ ! x)]=

(gr 1

xe[-1 1], sin[2(sin

1
2.

X€R, cosec(tan .

(A) o - > ﬁ. 1

X + cot™ x)-

2 o
C s . D 2
( ') T3 (D) |
3 xlz_l, tan[%(tan'lx +cot“1x)]= .
I ' B 3
= B V3
© o D) 1
%(e""-&- cos 5x)=
(A) e* +cosS5x- ' (B) e* +5sin5x
(9, e* - 5sin5x (D) | e* - 5cosSx

INT-A-23/2501-(5/10) | ‘ Page 9 / 32
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7. %(sin2x+ex —cos x):

: : | .
(A) cos 2x+e* —sinx (B) ncos2x+e  +sinx
. = | .
(C)  2cos2x+e* ~sinx (D) —2cos2x+e” + sin x
- d{1
28, 41 _
8 e ( 7 sec 4x)
‘(y/ secdx. tan4x (B) sec?4x
(€ tan® 4x (D) -1-lgscc 4x. tandx

23, <2 (10g, 10x)=

il 10
A4 .. 10x (B) X
(C) 10x _ ‘}Dr | =

30. dd 3x—4y+6z=11%€ﬁﬁ’iﬁ@§ﬁ% |

3 11

A e B Jer
6 | | 4

@ T U

Distance of the plane 3x-4y+6z=11 from origin is .

(A)

—_

B) —
© (D)

[INT-A-23/2501-;5/10) ] " Page 10 / 32
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32,

33.

34.

35.

3x

Ism-4—dx-

_3 e 3X
(A) k P COST

43X
(C) k 3 cos =
Icos—dx_
(A) k+ sm?x

9
9 T

(S)/ 7sm 5 * k

4JC
- log 4 +
[x(4x?-6)dx =

(A)  4x3-6x+k

(€ x*-3x%+k

(B)

(D)

(D)

(B)

(D)

®

(D)

(B)

(D)

INT-A-23/2501-(s/10)

'k—ﬁtan

[121/327 |

Sx‘.
k+ cos %

4 3x
k+ Scos 4

7 7 x
3 smTa— k

k +cos— 7x

ll?x
23 23

28 17x

Page 11 / 32




37.

38.

39.

40.

41,

I e* (cos x—sinx) dx =
(A) e*sinx+k
(C) -e*sinx+k

Ie" (x3+3x2)dx=

(A), 3x2'ex+k ,

©) . x3e*+k

| I“-’x(jlg‘"l?) d;:

X

() Te¥ik
X

(A) 39

© -21
ad;(s.in%JE =
(9] | ‘-g—'cosﬂsgc-
\[}‘/] %cos%
[-1]1Dh =1]-
@) - [o]

B)

(D)

(B)

(D)

(B)

(D)

®)

(D)

(B)

(D)

(D)

INT-A-23/2501 -(5/10)

eXcosx+k

k—-e*cosx

xgex +k

3e*. x> +k

18

s B
SCOS 5

5 ax
g o

B [-11]

[2 -2]

[121/327)
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42.

43.

44,

45,

| [121/327 ]
7 =2
3[8 o]=
. [21 -6] | © T B o
A s o =k 2 o
(21 —6“. ' P10
© 124 o] oh, |8 3

AU x+y< 25, xao%eﬂaﬁaz o asraaﬁlaﬁqm%

(A} 150 ' (B) 225

C) 425 o o (D) %H ¥ i3 &
The ‘maximum value of Z=6x+3y subject to constraints
xX+ys 25, ;; 8 is

(A) 150 B) 225

(C) 425 - | (Dj none of these

azaﬁ%ﬂ“yqa x20, y20 F AT Z=x- 3y$f~3:lﬁﬁ1—t'f‘:|":l'ﬁ%

(A) 39 M 26

(C) 13 . (D) -26

Thc: maximum value of Z=x-3y subject to constraints x+y<13,
x2 0, y20 is ‘ |

(A) 39 _ - JdByY 26

(C) 13 ' (D) -26

AT 3x+4y< 24, x20, y2 0 F AT Z=7x+8y F1 JATH HHA 3

A 56 (B 48

(C) O D) -12

INT-A-23/2501-(5/10) Page 13 / 32
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The minimum value of Z=7x+8y subject to constraintg
3x+4y< 24, x20,y20 is

(A) 56 | (B) T 48

© o D) 12

4. 2i-871(T+R)=

(a) 2 B -1
1 S " o) 0
47 | 1x‘511 Ztan-lx.z
R oy P
A e B s
(C) cos™} lfiz ; - - (D) ,ta.n_l 142_;2
48. - xeR,cot™'x =
(A) - -;—-sih‘l X (B) _125__ cos~) x
(C) -g_ tan™* x ‘ o (D) .';——scc'i x .
49. tan“l[ Xty ) -
1-xy
(A)  sin”' (x+y) B)  cos”!(x+y)
I[C) tan™! (x+y) D), tan"x+tan™ly
50. sin~! ( sin%’i)f
- 2n
X 3 o 3
5n : -
© = © £

INT-A-23/2501-(s/10
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52.

S3.

54.

55.

3 0 XV dx =
81

@& By
€ o (D)
1

Isin” X cqa3 x dx =

-1

w 2 ®)
@ 1 (D)
1 o .
I’x” cos? x dx=

-1
Ao (B)
(C) -13’7— , (D)
3! Jx dx =

A x4k
Q- 3x*%+k (D)

X +2

ng . dx =

(A) log| x+2|+k (B)
(C) “log| x-2|+k (D)

(B)

I INT-A-23/2501-(8/10) |

243

o

2x3/2+k

2 .3)2 :
3x +Kk .

log| x2—4|+k

x+2
x-2

log |

|+k'

[121/327 ]
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- . 56.

57.

58.

59.

60.

61.

-3
k(i

(A) tan"!3x + k

€ sinl3xsk

QSIsec SxtanSx .dx =

(A) | 25secSx+k

(C) 25tanSx+k

I s_cc2 4x dx=

JA)- | tan4x+k

(C) 4tand4x+k

-T+_j’) =

(A) O

c 2

J’ _dx  _
1+36x2

(A) 6tan" ' 6x+k

(C) %tan",l 6x+k

13 15| [2 0O]_

-1-4]10 2] -
(13 15

(A]_ -1 4}
(26 30

€ -2 8].

(B

(D)

(B)

(D)

(B)

(D)

~(B)

(D)

(B)

(D)

(B)

(D)

[ 121/327)

sec‘lSX"”k

cos 1 3x+k

S5secSx+k

secSx+k

1
& 4x+k
ltan X

8tand4x+k’

3tan™! bx+k

tan"!6x +k

15 d
0O 8

13 0
0 6

[INT-A-23/2501-55/10, | Page 16 / 32




62.

63.

64.

65.

66.

67.

3 7] [3]-

@) [245 365]

(B?
(C) -[19 45 ] (D)
f“/ ® tan6ds =
-n/6 :

Ja 0 (B)
il 2 (D)
Isina 9 cosepge de=
(&) c+0 | . (B
© c-cose (D)
I{cdsﬁ cose_c29—cose cot? 9)de =
(A) logcoscc'9+'cot6+k | (B)
(C)  k+sin® (D)
I{4cosx—5 sinx)dx=
(A) k+4sinx+5cosx \/LBT/
(C) k+4sinx-5 cos X | (D)
fmitta
(A)  2cosx+3sinx+k B)
(C) um”{Sﬂn§)+k_ (D)

| INT-A-23/2501-(5/10) I

 u
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4 15
(10 35

19
2]

c+cos

c+sin®

cosecB cotB+k

6+}_c

k=-4sinx—5Scos x

k—-4sinx+5cosx

log | 2cosx+ 3sinx| +k

2tan'i25-+k

‘Page 17 / 32
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68.

69,

70.

71,

72,

3'x2+2
[ ax-
X7 +2x

(A) sin™! (x3 + 2x) I+.k

(C)  log|3x%+2|+k

(€)

]'1 - 3+x
-1 & 3-x

-9) 0

(C) 2log3

—
o
=
I

(A)

%[N

(C). 2logx

‘The integrating factor of the differential equation

. g .
w g
(C) - Z2logx
- = - .

(3k-7Ti)x2k =

N
(A)  -14]
| .—b -

€ 11i -2k

(B)

(B)

o)

(B)

(D)

(B)

(D)

" (B)

(D)

(B}

(D)

[121/327)

tan~1(3x%+2) +k.

log |‘x3+2x |+ k

3 log 2

et Fer SL 42U 252 s FHe T &

2e*
x? )
dy . 2y _
ax T x
: zex P
x2
-
14 j
- =
2k =111

| INT-A-23/2501 ~(5/10) 1
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74.

75.

76.

(121/327 |°

a3 B) 6

© 7 . D s

T x+2y-3z+15=0 % aﬁm%ﬁaj ST &

@A) 1,2,3 B) 1,-2,3

c 1,2,-3 D) 1,2,15

Direction ratios of the normal to the plane x+2y—-3z+15=0 are

(A) 1r2:3 . (B] Is_2:3
© L2-3. D) 1,215
x+1_ -2 z -5
T @1 X =45- % ﬁ$ U €
(A)  1,-2,5 _ B) 3,2,5
[9"/ 37 31 6 _ (D} 1’, 3, S
The direction ratios of the st;aight line x; 1 ¥ ; 2 zgs are
&) 1,-2,5 | B) 3,2,5
(C) 3,3,6 | (D) 1. 3,5
— x-100 “Y-99 _z-98 frfafige -
@ o1 102 _ 103 Bl fog @
TRl & ?
(A) (101, 102, 103) (B) (98,99, 100)
(C) (100,99,98) . (D) (99, 100, 101)

B IINT-A-23/2501~(5;10) ' Pég'e 19 / 32 |
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. i ight li
Through which of the following points does the straig | e

x.—loo_y—gg_z—% )
101 ""T02 ~"1o3 Pess

(A) (101, 102, 103 B) (98,99, 100)
(©) (100, 99, 98) (D) (99, 100, 101 )

~ i S ) -+ - = -
. T7 (10:+}+_k)x'(-'-4i+7j—llk)=

- oy oy S =
(A)  -181{ +106 ] +74 K B) 18i -106j-74k
' | - - 2 : e -2 2
© 1817 +106 j+74k (D) 57 -67-7K
' d (.3 |
?8.- a—-—x—(x +ex)=
(A)  3x2 (B)  3x2+3e*
\_,(2]/ 3x2+ X - (D) 3x2e*

79.. ac-l;(ta.n x+sin? x ) =

2

(A) secx+2sinxcosx (B) sec? x +cos? x ¢

(C) sec? X+2sinxcos x (D) sec? x— 2sinxcos x

80. -‘1..2..( e°>x | =

(M eSx ' . - (B). loesx ) ‘

\9/ 5e5* | (D)  25¢5x
81. d x—8y~92_=12a5m@3?$f§ﬁ${w%

(A)  x+8y+9z=12" - B) . x-8y-9z-2023
(C} 8x-y-9z=12 (D) - X-9Yy-8z=12

|INT-A-23/ 2501-s/19)
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Equation of a plane parallel to the plane x-8y-9z=121s

(A) $c+sy+9z=1;z Br x—Sy—gz.—_QOzs

(C)  8x-y-9z=12 ' (b) . x-9y-8z=12,
82. (3i-4k) = |

A 1 B 25

@ 7 - D 49

83. gigwr 3?—9'} & feom o s afcwr @

e B _ - -
3i-9j - (B " 3i-9j
p =2 e
> 3 . ®
( 3i-9j - D) 3i-9j : N
490 370
- -

The unit vector in the direction of vector 3 i-9j is

- 9-—'» ; | : 3—‘) g—-)
3i-9j . i =9
) 1—6 i B j
| ' e
R s V90 » ' v70
—’

' -> - - - -
84. (z’—j+k}.(7i-—8_}+9kl=
(A) 22 - B B

€ 24 (D) 25

INT-A-QS/'ESOI—{SMO) Page 21 / 32
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85. HHAA 3x+4y+52=13 R -3 W H1eT 74T SaEs §

3 13
(A) 8 (B) 3

13 13
(C) Y (D) =

The intercept cut off on x-axis by the plane 3x+4y+52=13 is

3 ; 13 -
A 2 29
A) 13 B) 3
13 | 13
c i3 13
- (C) 3 (D) 5
86. AT ae ax+by+c.z+d -0 %m%@ L=Z-Zad
(&)  a+2b+3c=0 " (B) -a+2b+3c=0
(©) .3a+b+2c=0 D) TR wE
Il'th;: Iin .i‘.i. -‘% % is parallel to the plane'ax3}by+cz+d=0' then
(A) a+2b+3c=0 - B) -a+2b+3c=0
(C) Ba+b+2%=0 ° (D) none of these

87. I q T a)x +biy +c¢;z + dl. =0 9w ayx +byy +tCrz+d, =0 WER

o g
@ lept-d B Ll oy
— === it +—= =

2
(C) a,a, +bb, +cc, =0 | (D) g @ CaEs EE)

_iINT-A-23/2501-(sno] | Page 22 / 32




88.

89.

S0.

91.

!

[121/327 ]

If two planes ax +by +¢,z + d; =0 and a,x +byy +cyz+dy =0 are

mutually perpendicular then

b
- (A) b WO T (B) _‘1_!+_?.1_+fl_=0
a b o a, b, ¢
‘[,CS/ a,a,+b b, +cc, =0 (D)  none of these

- —>

- - - -
(11i =7 j—-k).(8i -j =5k)=

M e - - (B) 100
() 400 ' D) 88
P(Al--l—l, P(B)"‘ﬁ: P(AﬂB)-—=> P(A/B) =
) g : . (B) g-

© 1 (D) ..12.%
P(El=— f’(F)——, P(EUF)=$: P(EhF): |
@ = o 2

3
o 7 P o3

Hﬁﬁmiﬂ?i‘@aﬁﬁﬁéa@lﬁx, 5, 3 @Y1 20, 10, 6 & O x &I AF &
(A) 10 B) S5

© 3 | D) 40
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93.
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~ If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6
then the value of xis |

&) 10 | B) 5

@ .3 - - (D) 40 .

% X it st F g S 0y by,0, A ag by € o
G . B b

© B o g

If the direction ratios of two parallel lines are al,bl,cl and CFQ'bQ'Cz

thenw

~ g L .
@ B (B by
(C) by D) ¢

-#ﬁ'ﬁrqran aﬁii@nm'%'ﬁaiaﬁmm'z 3, 5 @ x, %.4iﬁiﬁ

-2x+3y— |
(A) 20 , B) -20
(C) 30 - (D)  -30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5

and x, y, 4 then 2x + 3y =

(A) 20 , B) =~-20
(C) 30 | D)  -30
|3?—47-5¥|=

.j&r/'sJﬁ B) 12

2 D) 9
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93. [2&-7 l]=[a b—I]:{a,b)=

(A (L7) _ (B) (2,'7)
©  (7,2) ' D (23)
1 1 5 |
96. 4 9 17|=
5 10 22
(A) 264 | “(B) 1221 —
€ o D) 1
‘ 1 2 -1 '
97. 5 4 -1|=
T 6 1 o
Ay O ! 1’
< -1 (D) 12
58, |Gees cosoell| ™
(A) 0 | {B) -1
©@ -2 (D) ~-sin26
: 1 0 2 -3|_
99. [o 1] [o 4]‘
o o o
(A) _8 2_ Bo|o 4
-3 - ' (1 0]
© |37 © o 1,
[ 1
100. [6 5] _1]=
A [6 -5] B) [-5 6]
© [1] | - @ [11]
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WUS - & / SECTION - B
oY IR U3 / Short Answer Type Questions‘
37 qEEr 1‘# éoam'ag.awﬁzr;?; 5 § =t Ismqfa\r'gﬁre"l aw
m%ﬁvzwﬁaﬁag‘; ' 15x2=30

+

Question Nos, 1 to 30 are Short Answer Type'. Answer any 15 questions. Each
question carries 2 marks. ' -' . 15x2=30

Lo @ y=x’-x+1 F WY Y@ F yaoRw 39 frg W TA b TR
| xFréwis 2 %) . | 2

Find the slope of the tangent fo the curve y=x>-x+1 at the point

whose x-coordinate is 2.

2. RE®HF"_....":R«R o R FHEHET e @ 77 &1 2
Prove that " ... “:Rx R > Ris not a commutative binary
operation. : “_ _

3. :_:oscc_li_ZWH@Tq'ﬁﬂTﬁE\‘ﬁ'l ‘ 9

Find the principal value of cosec ™! 2.

=L%$a’\am'q¢raﬁmmﬁ| 2

Find the acute angle between the lines £=Y_-2 , 4 x_Y 2z
' . e ~. 2 2 1 5 4 _3°

5. T O 4 T 1 5 Il R E O G845 e e 6wt
1T et 3 e Pl T 8 1 e o v v e ey

I Sl A 5.

A bag contains 4 red and 5 white balls and another bag contains

5 black and 6 green balls. A ball is taken out from each bag. Find the
probability that one ball is red and the other is black.
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6. 5 el w Soren war ) S o et e @y e A w2
S coins are tossed. Fipd the prqb%bility of getting exactly 3 heads.
i Fﬂ@ﬁﬁ‘? cosec-1x+sec"lx=£-,|x-|21. 2
Prove that cosec™ x+sec™! x=-g-, x| 21.
8. | ﬁ_x+2y+32=6 G 3x~3y-|.-z=1 ﬂiaﬁﬂmaﬁwmﬁl 2

Find the angle between the planes x+2y+3z=6 and 3x-3y+z=1.
o. fag(4,-56)Raw . (47-47+7k)=—6 FFAA@HR 2

Find the distance of the point ( 4, — 5, 6 ) from the plane |

- = - —b

r.(4l—4j+7k]=—~6.
; > - = - -, = - — - = .
Jg/ﬂﬁta:Qi+j+3k‘ﬁmb=3i'+5j-2kﬁ’r|axb|'ﬂﬁ‘ﬂ| 2

- - = —» - G ¢ - — - =
faq=2i +j+3k and b=31 +5 j-2k thenfind |a x b |.

g - - — - -
‘yqﬁ:‘;:??*llj—lﬁ_k, b=8;‘+3j_5k-a'g]'|' B
| _* -’ _’ I-* . -
z=—-4?-—3}?+5k?‘ﬁ|2a —3b+4c|3-nﬁa-,‘h , D)
e ->» - iy — - - — o
Ifz==7?—113’-16k, b=8i +3 j-5k and c=-4i -3 j+5k

. - o — '
then find | na -3b+4c ¥
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.12. fas & T (o,%)w f(x)';sinxﬁﬁiatq'éhﬁ'%l - 2

Prove that the function f(x)=sinx is continuously increasing

in (O,E ]
_ 2

'13-.. Wﬁ xa-;~y 2xy - 2
Solve xdy-—y 2xy
14.- .uﬁ x+y=xy3a’t%aﬁﬁl L. | | 2
If x+y=xy° then find dy
dx

\15./?43?} - - 2
- dx:_cxﬁ_ :

dy . 2y_11

Solve : ;
dx x x2

6| T T I B 2

, 1 2
16./ QRIVER |1 3
- l1 4 o

(S —

Find the value of the dctcnﬁjnant ' . ' .
. : 01 2 1 =2 :
‘l/qﬁ A=[é e 2],B=[—é ]ﬁ’rwmﬁ zﬂ‘amaa’u 2

. 01 2 1 -2) ' -
If A=|1 2 , B=| =1 then ﬁnd AB if possible. N
2 3 4 2 -1 |

HSWON
O NP

‘}/ﬁqﬁﬁ %. :_+2_; +3k. -?-7+8k 3R -4: +4j +6k U
ﬁrgﬁﬂn‘ﬁ"ﬁ:ﬁ’r&%l SR 5 2

IINT-A 23/2501-:5110| | _ ' Page 28 / 32. ™
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-» - -+ - - ol
i -j+8k and ‘-41i +4j +6k are

vertices of an equilateral triangle.

-.)
Prove that i+2_j’+3}’, -

19. =g Yy=cos(tan x+1) @ %Eﬂﬁﬁl 2
R | § y=cos(tan‘/x+1_}thenfmd —g—% _ .
/\/%ﬁaﬁ{ [ - 2
x(1+logex] :
Solve : f
x[1+lcgex)2
kJ'
21 <
kJ_
Integrate Ie

// [sm xcosloxdqumwaﬁl o 2

Find thc value of Ism x.cos'® xdx.

, 4 2 - ; :
03, " 6x"—1 4y 1 HH T B | 2
s .

cotd 4o = HE T HL 2
tanO+cotd

24
0

n/2

: ' cot®
Find the value of J

tan©+coto

0 - A
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25. AR y=(sinx)O* @ -g—% T 2'

If y=(sinx)“*%* then find -g—-‘z—

'-2}/ ¥ x=a(l~cos0), y=a(0+sin0) I g—z T L 2_

If x=a(l-cos0), y=a(0+sin0) then find (_‘;‘%, :

27, e x+2gsne .
;Icz 0, y20 |
& g Z=3x+7y$fﬂﬁlmm%ﬁ?ﬁbll | h- | _.2
Maximize Z=3x+7y- | |

subject to the constraints x+2y< 16

x20, y20.
28, HHAHEA HY Isin4x.c_os!3xdﬁc. , : : )
Integrate : Isin4x.cos 3xdx.

09 do

3-—4(;0&;9$r w §ox ' ' 2
] de . U
lntégrate. 3—4cosh"
30. [ COSECX __ dx &l HHIHT &% | -

cosec x +cot x LR
A .

COSCC X -
cosecx+cotx

IINT-A-QS /2501-(s/10) l Page 30 / 32

Integrate : I




' | [121/327 ]

et gadig W 4 Long Answer Type Questions

MY W 31 % a8 A wedta wer F1 ¥ @ Pl 4 T & v 1 S

% 9T 5 s faifea 1 _ 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
 4x5=20

- 4 questions. Each question carries 5 m,drks.
3L TAR: (x? 4y )—=2xy 5
Solve : (x2+y2)9—9--=23'cy
32. fag # % tan™ 1, tan™ _2_1__. =cot™ x. ' 5
- Xty X+ xy+l - :

Prove that t.sm'1 1 + t.ai.n"1 3 Y =cot™ x.
f : xt+y x“+xy+l

a-b-c 2a ' 2a
2b b-c-a 2b
2c 2c c=-a-b

33. Www@tﬁmﬁ:
=

a-b-c 2a 2a
2b b-c-a 2b

Factorize the determinant :
! 2c 2c c—-a-b

34, ARG y= (smx]m” +(cos x)50* At -g% I H| .8
! . cos X +[c08x)5inx ﬂ'len fmd -d._!{
Ify= (sin x) ind =~

o s o Ol A ¥ A e A R E

ind the mean of the number of heads in two tosses of a coin.
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36. Z=5x+7y F1 ATHAHHT H{ F(h |

x+ys< 4

3x+8y < 24

10x+7y < 35

x,y=20 T . : S
Maximize  Z=5x+7y |
subject to x+y<4

3x+8y < 24

‘ 10x+7y < 35
x,yz20 %

A |
37. _[ e2% dx 1 TF T HL | 5
x 2x ) .
1

2
Find the value of _[[31? —5-13] e2X dx .
X

- 3 3 o - - . ‘
38. [{T~2?+3k1x(2f+j—k)].(j+k)aﬂn1=f‘ﬁm$’u 5

—

o 4.._,.-’ . —?. R .
Find the value of [(.i =2 j+3k)x (21 + -k) -(J+/k\/

-
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